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7z o AR AL
1 (07t AT—T )L 7 3,000
2 | ATYTRAY— )L 7 580
3 |TURNRTF =T (2H) 20 2,600
4 |BRO[EERA AR 8 2,000
5 |TVEHR 4 1,500
6 |JTERTVI 8 580
7 |m—T—T7 2 1,210
8 |Fuftr0ilHT AT 5 1,210
9 | AF—NNH—TF9 3 1,490
10 |FA=2TF =7 2H/#) 3 2,000
11 [V AFT—7 3 3,000
12 | HIT—ARvIA 5] 780
13 [3BBRHTATv 7 3 1,620
14 |42 I/ EAR) 10 3,700
15 [4BRAZNT v 14 3,000
16 |7T9U—RAHZR 6 2,500
17 | REIv7 5) 1,100
18 | BEAT4BEIH 1 980
19 |(Fv=y =i —r (M) 9 4,610
20 |(~wHTUTvT 3 500
21 |VaAv oo 2 2,000
22 |FyFLUI 6 1,500
23 |TL 3 2,000
24 |51 HLIH 8 710
25  |FAWEIZ 7 8 750
26 | KU/ Ny 7 R ANFHEL) 7 3,490
27 R DHSILT 9 1,150
28 | TSI 2 200
29 |2IF 3 1,500
30 |=eftsERTy7 10 5,000




2 B ALK AL

31 |FBk 3 1,010
32 |07z A FA A (31 6 1,000
33 2BRAT YT 9 980
34 |@—U T RTT AV — )L

35 |[R—INT— 5) 1,200
36 |[INATNSH—TF97 8 2,000
37 |T0E 3 1,030
38 |SCHEEMN 7 1,000
39 |MLY— 6 4,500
40 |[Va—RTvT 2 310
41 |3LEFE 3 810
42 |BEAR (FK) 5 4,000
43 [TNN—T— 4 3,580
44 |HAR (F) 1 2,300
45 |EFRHFYI— 24 4,000
46 | RE—I— 1 200
47 |BEREH QTAVF T 3—) 9 7,000
48 |wU TV HERHE 244F B) 8 6,000
49 |07l A BEE QO TF T —T ) 6 7,550
50 |BERE (241F %K) 1 2,000
51 |BEzH QTAvF T /3—) 8 5,610
52 |¥TVT=T= A BEsE 201> F ZU—L1) 8 8,000
53 |07 lz A BERE (16 />F T L/3—) 13 9,990
54 |fiBhEmfTE BHEREH (1612 #%) 4 3,030
55 |FIAR—K 2 300
56 |V T AT 47 2 1,060
57 |FZv /347 4 1,250
58 |FML=E 8 400
59 |&Y 1 590
60 |D/XAZ 8 1,010




